Answers_basic_lesson_30_present_perfect vs_past_simple_part 2
Exercise 1

Choose the correct answer

1. The Titanic in 1912,

A. sank

B. has sunk

2. | my pencil yesterday, but my brother found it this morning.
A. lost
B. have lost
3.1 some new shorts, but | don't think | like them. Maybe I'll take
them back to the store.
A. bought

B. have bought

4. 1 these boots to go hiking yesterday.
A. wore

B. have worn

5. The children all the orange juice! We'll need to get some more.
A. drank

B. have drunk

6. We this TV set since 1968, and it still works!
A. owned

B. have owned

7. What for dinner last night?
A. did you ate
B. did you eat
8. They Oliver yesterday.
a) have seen
b) saw
9. 1 never to Vienna.
a) didn't go

b) have gone



10.We to the cinema last night.
a) went
b) have gone



